@ AR 2B TR ()R
Bk 3 F SHE RS S

5 p | TSP/ 24’1;1‘ =R Pb cd Hg
£ 1 rg/m rg/m’ rg/m mg/m’
AR 250 - — ~
¥ - =X 13 ND<0. 10 ND<0. 005 ND<0. 0002
1 - =% 50. 6 ND<0. 10 ND<0. 005 ND<0. 0002
¥ - =X 81.7 ND<0. 10 ND<0. 005 ND<0. 0002
’ L 98.9 0.12 ND<0. 005 0. 0003
¥ - =X 88.5 ND<0. 10 ND<0. 005 ND<0. 0002
! - =% 69. 1 ND<0. 10 ND<0. 005 ND<0. 000076
¥ - =X 201.0 0.13 ND<0. 005 0. 0004
' - =% 180. 0 ND<0. 10 ND<0. 005 ND<0. 000076
¥ - =X 98.0 ND<0. 10 ND<0. 005 ND<0. 000076
’ - =% 4.2 ND<0. 10 ND<0. 005 ND<0. 000076
¥ - =X 59.3 ND<0. 10 ND<0. 005 ND<0. 000076
’ - =% 71.8 ND<0. 10 ND<0. 005 0. 0002
; ¥ - =X 58. 1 ND<0. 10 ND<0. 005 ND<0. 000076
! - =% 58. 2 ND<0. 10 ND<0. 005 ND<0. 000076
¥ - =X 63. 2 ND<0. 10 ND<0. 005 0. 0004
° - =% 50. 4 ND<0. 10 ND<0. 005 0. 0008
¥ - =X 64. 2 ND<0. 10 ND<0. 005 ND<0. 000076
! - =% 75.9 ND<0. 10 ND<0. 005 ND<0. 000076
¥ - =X 64. 2 ND<0. 10 ND<0. 005 ND<0. 000076
0 - =% 53. 8 ND<0. 10 ND<0. 005 ND<0. 000076
¥ - =X 70.8 ND<0. 10 ND<0. 005 0. 0008
i - =% 72.9 ND<0. 10 ND<0. 005 ND<0. 000076
¥ - =X 76. 4 ND<0. 10 ND<0. 005 ND<0. 000076
° - =% 79.7 0.18 ND<0. 005 ND<0. 000076




